Year 5 Math
Understanding the short division method (bus stop)
Please follow the PowerPoint for instructions on how to use this method (which is new to some children).  
This is in 3 levels of difficulty –you do not need to do all the questions- choose the difficulty that matches your confidence level.  3 is the hardest. Spend extra time today trying to feel really happy with short division.
https://www.bbc.co.uk/bitesize/topics/z36tyrd/articles/zgxdfcw 
Use the link above for extra support with this method. You could even write out your own sums to help you practise. 
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3. Solve these donkey problems. Use the squares to set out your written division calculations.

a. Seven donkeys had 358 carrots to share last week. If they all ate the same number of
carrots, how many did each donkey eat and how many were left over?
Each donkey ate and there was left over.

b. There were 640 donkeys living at the donkey sanctuary. They were split equally between
5 fields. How many donkeys were in each field?
There were donkeys in each field.

c. Write your own donkey division problem.
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Complete these written division calculations.
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51 carrots and 1 left over
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Multiple answers possible




